= A
N = 0] &F AF S & AN A
20178 = 20 A LEHSH & Al
EX: BwEY
MM NESHH WA
CHel: DEOH B CCHRED
L=
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
wE 16,879,250 16,670,317 208,933
Al 16,558,000
- 321,250
nEd A 16,751,742 16,548,074 203,668
Al 16,558,000
- 193,742
NEOM &Y 383,501 343,025 40,476
Al 195,000
3 188,501
WEANE=S N2 132,454 117,242 15,212
Al 115,000
3 17,454
201 et 9| 48,454 50,282 A 1,828
Al 35,000
- 13,454
01 AR 22l ] 4,704 4,032 672
Ol 4,704
—DEAAESNTLDEUHYLEN
EZ2ZAH| 4,704
7,000 x7Q1 120 *80%< & 2>
02 232 H4| 43,750 46,250 A2,500
O2ZQ2Y A 1,500
— QWS LEHEIR2(63MA) 1,500,000 1,500
Al 1,200
- 300
OAl&E Z&HI KX Y| 42 250
—SNESLAHLWEANEEFSANES
(2160 A /E A 22| L E) 42,250
42,250,000
Al 33,800
- 8,450
202 o4 | 4,000 4,000 0
01 2Ll 4,000 4,000 0
QUEHSEANLESHH EEALDnSHIA=A
20,000& #5010 x50 *80%< & 2> 4,000
401 AlEHI L £ 0HY| 80,000 62,960 17,040
Al 80,000
01 Al&H| 79,460 62,390 17,070
ORMELEAX 49,460,000 49,460
Al 49 460
ORMNESLHUEXTH LI ALY 10,000,000& 10,000
Al 10,000
OSAUZ1809722t LIIESLHEX
(AlBl22) 20,000,000& 20,000
Al 20,000
03 AlE 21| 540 570 A 30
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wE

nEsdd Mo

DEOH &5 (SHol: @)

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
201 Bt 4,840 4,840 0
01 AP 22| H| 4,840 4,840 0

Ogbt424| 1,600
— Ot AEIHMZ
200 x5, 0000H *80%< & 2> 800
— S 0N & 60,0003 x5 & *80%<E 2> 240
— Ol M =Ml & 702 %10, 0000H *80%< & 2> 560
ogds4 3,240
— WECHHNEUAAILE
30,000& 1Al 2-%1083] 3,240
203 ¥ 2 =&H| 1,600 1,600 0
03 Al =& 2 = X H| 1,600 1,600 0
ONEGHDEANME
2,000,000& *80%<&E 2> 1,600
301 et A= 1,200 1,200 0
09 HAIAHI BEAZ 1,200 1,200 0
OB X20/AaH 24 10,0008 #3021 43| 1,200
307 2iz2to| A 6,770 6,521 249
02 QI AAIE E X 6,770 6,521 249
ORY2M XX UG XS ASH XA
4,100,000& 4,100
OE =M LIS AISH X & 2,670,000& 2,670

oerx X Mdel 4,576 4,288 288
201 LBt Y| 2,016 1,728 288
01 AP 22| d| 2,016 1,728 288

OF=1=1:] 2,016
— RHYNNYSAREX S A
7,000 #3021 x 120! #80%< & 2> 2,016
202 044 2,560 2,560 0
01 2L Y| 2,560 2,560 0
28X XS & XA
20,000 #2010 x322 x80%< & 2> 1,024
ORcer X Il 2 XFA TH 4= Ab
20,000 301 x322 x80%< & 2> 1,536

HIIZ AL J12tE 0 XA el 7,698 6,018 1,680
201 et 9| 5,058 3,378 1,680
01 AP 22| H| 2,938 1,258 1,680

OgttL2Y| 1,258
— NSNS AMEINHNSY
2203 x500H x12& *80%<& 2> 106
—HAAIJ|HHS S IDIIIEH A
1,500 x800H 12& *80%<& 2> 1,152
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2AMd: DS
My DEHF NA
ool DS &3 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEL] 7,680
— B2 RS A
7,000 %201 x120 1,680
02 2324l 2,120 2,120 0
O=323<LHA 1,080
— I A ZAZ US| HATHERERS
3003 «300AH+12& 1,080
OAE ZHI S X 1,040
— ANASXHEIZAIEZG0I0| XS24 22 A
S PNE=E:] 1,300,000& »80%< & 2> 1,040
202 044l 2,640 2,640 0
01 = LH o4 1l 2,640 2,640 0
OFIIBAXISA22 BRI X 2O
20,000 3@ x55 Y x80%<H 2> 2,640
HEXNERAEZ AL A 3,500 2,400 1,100
307 izl & 3,500 2,400 1,100
02 It M AHE X 3,500 2,400 1,100
OAEXNERATFZ AL A A 3,500,000& 3,500
TSy EHZ orMEA AX| 80,000 0 80,000
Al 80,000
401 AIEHI L 2CHYI 80,000 0 80,000
Al 80,000
01 A& HI 79,280 0 79,280
OxSSuAdEdZtMA AL
(AM2IZ2) 79,280,000& 79,280
Al 79,280
03 Al S HHI 720 0 720
OxzSSuAdEdZtMA AL
(NIB2) 720,000& 720
Al 720
SHNEEHHI LGN (ES) 82,000 0 82,000
401 Al HIZ 2018 82,000 0 82,000
01 A& HI 81,262 0 81,262
ORINZEHHI LM (SHE) 81,262,000 81,262
03 Al 2 THHI 738 0 738
O2ENZEHHZLANH(ESF) 738,000& 738
A&s 2E5EM 28 16,368,241 16,205,049 163,192
Al 16,363,000
T 5,241
sshsit 22X A 16,363,000 16,200,000 163,000
Al 16,363,000
307 glz2tol & 16,363,000 16,200,000 163,000
Al 16,363,000
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2M: nSH
My DEHF NA
Sl AWE SSIAN =Y o HE)
5 - 4
HE - B (3H) - KISAY - BYS 0l &t o e 2
09 2HAHAEXS 16,363,000 16,200,000 163,000
Ost2sXNRIEEZ 16,363,000, 000& 16,363,000
16,363,000
FAHE 2 5,241 5,049 192
201 -4 3,961 3,769 192
01 At 22l 3,092 2,900 192
Oget=&H| 1,748
—SMEXABRY - BN (SE)MSHE
1703 «50001 x80%< & 2> 68
— MR S B O R
60,0003 *30 & *80%<Z &> 1,440
—EASHAMDAEIHSHEH
2003 x1,5000H »80%< & 2> 240
O= &l 1,344
— HMFEHL AL Z A
7,000 #2021« 120 «80%<E 2> 1,344
02 =224l 869 869 0
O=2Z223LHA 869
—ZUSENSXUHHIIHNALESRER S
1,930& 4504 869
202 04l 1,280 1,280 0
01 S LHOIYI 1,280 1,280 0
OXX 2l LB
20,000 221 x40 x80%<H 2> 1,280
HYR2IZH (DS 127,508 122,243 5,265
A29Hl 96,452 93,283 3,169
A2 96,452 93,283 3,169
101 124 dl 96,452 93,283 3,169
01 2= 96,452 93,283 3,169
OAlZte 28+
9,649% «2801 x35A| 2F* 123 x85%< & 2> 96,452
2l 31,056 28,960 2,096
JlE&l 31,056 28,960 2,096
201 €24l 20,417 19,361 1,056
01 At 22l 20,417 19,361 1,056
O e8| 11,584
—Z2HI SAILEES
3,000,000& *80%<& 2> 2,400
—RA2E =2 11,480,000 & »80%<ZE &> 9,184
O= &l 7,393
—ExEYREZ AL
7,000 «321x100L *80%<E 2> 1,680
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EA: WEI
HaM: H¥=2HAH (S W)
el =P CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S I CEEET LT
7,000 #3021 x 108 x80%< & 2> 1,815
—RARYYREAS ALY
7,000 %2901 24 2 x80%< & 2> 3,898
Oexz 1,440
— AR EAILRE 120,000& 1 = 12& 1,440
202 04| 6,239 6,239 0
01 2L I 6,239 6,239 0
OFXNEHBILAIES AN HI
20,000 & 201 x 70 #80%< & 2> 2,240
OuUuESdHHIL2=A NI
87,4003 401 x3 %23 x80%< & 2> 1,679
OEMSIGELE2F=8 NI
20,000 & 2901 x5 x80%< & 2> 2,320
203 ¥ 2 =&H| 4,200 3,360 840
04 FEASHEYIFFEH| 4,200 3,360 840
OEMSIgELEF=8H| 350,000 x12& 4,200
405 XHAHF S HI 200 0 200
01 XAt 2 E F S| 200 0 200
OA&IHHBES2E I 200,000 «1CH 200
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== A
N & o & AF & H Al A
20178 & =0l &k L B3I A Al
A EAA
M FAUZET A=A &2
SRl ASIRSER MHIA WS EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S N 9,750,383 9,127,323 623,060
= 89,621
Xl 204,148
J| 2,670,178
Al 1,874,337
- 4,912,099
JAUEET AIZISEH &2 381,614 378,571 3,043
Al 375,854
- 5,760
MIBSEHE MElA W3 381,614 378,571 3,043
Al 375,854
- 5,760
HAMZAEEIAMSEHANE 2 381,614 378,571 3,043
Al 375,854
- 5,760
307 21201 A 381,614 378,571 3,043
Al 375,854
- 5,760
10 M2 SXNANEEHE2IHEX 381,614 378,571 3,043
OAMIISAHAE 2| 370,094,000 370,094
Al 370,094
OMSIEHANEEANNEESZ 11,520,000& 11,520
Al 5,760
- 5,760
A= 24252 6,086,903 5,585,523 501,380
= 89,621
X 204,148
| 2,490,296
Al 1,408,542
- 1,894,296
A0z MHIA XIJALS 236,565 218,343 18,222
EAIZ R ALY 38,947 40,915 A 1,968
201 LBt 6,280 5,848 432
01 At 22l 6,280 5,848 432
Oger==gH| 2,896
- HESHUIGLER
2,500 3 +70kg « 122 «80%< & 2> 1,680
—MESYUAUSH LN TY
28,0003 *40==+80%<Z 2> 896
— M XER 1,000& *2007H *80%<& 2> 160
— H=X2lyl 40,000& *43] 160
O= &l 3,024
~ BAANRALEASTAY
7,000 9021 x60 L +80%< & 2> 3,024
Oogxz 360
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A EAA
HE: NFY ALEA
Chel: BAHS MHIA XJAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—AEJcogge e
10,0003 =3CH«12& 360
202 O4dl 9,467 9,467 0
01 = LH 4 Hi 9,467 9,467 0
OEAHIZ RN =A0HI
20,0003 901 «57 L +80%<E 2> 8,208
OEHYZ HHIATIAZF=A 0L
87,4003 30! +3 »23] 80%< & 2> 1,259
203 YR =&l 1,600 1,600 0
03 AIMF=XH R =AH| 1,600 1,600 0
ORAANMZHL S XX
2,000,000& »80%<E &> 1,600
204 MR I 21,000 24,000 A 3,000
03 EZ YR 21,000 24,000 A 3,000
ot gsdl(620I0t) 50,0003 #3521 «12& 21,000
405 RHoHE S HI 600 0 600
01 AL EZFH S 600 0 600
OZ=MBRSI Y 600,000 «1CH 600
AN Y 232 22 149,680 141,401 8,279
101 14l 16,150 15,051 1,099
4 D12t ZE2EXNEES 16,150 15,051 1,099
OFALE AR BUHEHSTSLE)
51,7603 #3021 x 130! x80%< & 2> 16,150
201 L2l 79,734 81,700 A 1,966
01 At 22l 9,758 10,523 AT65
Oget=&H| 8,198
—dJ|er e 2 110,000& = 12& 1,320
SOHHIANAEAIE =S
100,000 3 A +12& 3,600
— AL HRNEFES 190,580 4= Dl 763
—dgxELE 500,000& x13] 500
—SBUAEF 2N LY 50,6002 *5IH*x80%<E 2> 203
—HFABEDY
30,000 *40H 2 122 «80%<E 28> 1,152
— DAL E LA+ 300,000 +23 600
— Dt Z M= 60,000& *13] 60
Ogxtz 1,560
- R RIN = 35,0003 *x2CH 128 840
— StEAHIUE = 20,0003 30 128 720
02 =224l 69,976 71,177 A 1,201
O=3232<HA 35,643
—dIIRa 2,000,000& x12& 24,000

- 253 -




A EAA
B (AE0 AYEH
Chel: BAHS MHIA XJAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—HGt=ER2= 220,000& »12& 2,640
—REYSAER 8,800 *33| & +12& 317
—RER= 400,000 x12& 4,800
—HIESSPCAHUWAIZEZE  22,000& 201 +123 528
— XS Al 458
HESEX 280,000& x1CH*13] 280
- AESE 27,0003 201 13 54
- AESE 59,0003 x1CH 13 59
-AESE(VEHEEA)
65,0003 x1CH* 13 65
—ANsHEE = 2,300
HESEX 500,000 = 1CH 500
L8 E 300, 000& »2CH 600
HEHA 700,000 = 1CH 700
L2EESE 500,000 = 1CH 500
— ASOHYIH (LS - AYBURAN)
100,000 121 % 13| 100
—dIIEHIEIIZ MR 500,000& x13] 500
SL=EX] 13,262
— HAE(ZAIILA)
9613 +15m «BAl 2tx115L 13,262
OAIE ZHI S X 8,555
— A== X4l 6,795
BAMS(26E X D)
4,030 *1,396.59m’ 5,629
BALX25(15H0I6H)  2,5033*449.64m 1,166
— S 1,000,000 * 1A x80%< & 2> 800
— ASANLEHH SR A2
1,200,000 * 1A x80%< & 2> 960
O Xt 12,516
—HESEX 3,290,000 » 1CH »90%< & 2> 2,961
—A28sd 2,704,000& » 1CH»x90%< & 2> 2,434
—AE3ES 2,605,000 »2CH x90%< & 2> 4,689
—yEseA 2,702,0003 » 1CH»90%< & 2> 2,432
307 21201 A 41,196 39,650 1,546
05 BIZERIE 3 41,196 39,650 1,546
OFANFELZUES(BHA BAX LA, A2 ST
HE) 41,196,000 41,196
401 Al HI L 2 THHI 2,000 0 2,000
01 A& Bl 2,000 0 2,000
OBAA25(E&)NS24 X 2,000,000 *14] 2,000
405 XHoHF S HI 10,600 5,000 5,600
01 et ESFH S 10,600 5,000 5,600
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A EAA
B (AE0 AYEH
Chel: BAHS MHIA XJAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O e8| 1,860
~ DREHEUUNREEDY
550,000 x80%<& 2> 440
—HIBLUERES 15,000 x182+123 180
—BHUNSYIANHLS 2
350,000& »80%<& 2> 280
—HEEUGE P
1,000,000& »80%<&E 2> 800
—EA2857¢Y 200,000 & *80%<& 2> 160
o=zg=¢ 1,540
-~ REPANRASAO S B ALY
70,0003 x1121+23] 1,540
SR 280
~ HERAN2AAREFZ A
7,000 * 12«50 »80%< & 2> 280
02 =224l 9,557 9,557 0
O=2Z223LHA 4,559
—dIRea 220,000& »12& 2,640
—&otrER=a 43,000& ~x12& 516
—sHes 30,000& 128 360
—TVdlE 7,700&x12& 93
— NS XHA 300,000& *1CH*13] 300
- NSHEE = 400,000 = 1CH 400
— QS ANDEEE 250,000& x13] 250
OAIE ZHI S X 800
— o= &= Xbl 1,000,000& »80%<&E 2> 800
O Xt 4,198
— XE XAl 5,247,000 1 CH*80%< & 2> 4,198
202 odl 420 420 0
01 = LH o4 1l 420 420 0
ORELANZAALET Y|
87,4003 #1291 x3 x23| x80%<E 2> 420
206 M =4l 424 424 0
01 MHZ 4l 424 424 0
OBsSEHINZAARE 424
—ghAg 16,5003 * 104} RH+80%<E 2> 132
— ZSdIAHEAE 44,0002 *64f X x80%<E 2> 212
— Al 25,0003 =444 TH+80%<E 2> 80
307 glz2+ol & 9,600 8,000 1,600
01 2L =4l 9,600 8,000 1,600
Oggsss+Y 12,000,000 & »80%<& &> 9,600
Ol - oJoF At 248,271 196,176 52,095
= 25,665
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A EAA
M XAEQ AYEH
SOl O - oo AR EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 22,6527
Al 21,022
- 179,057
gtAASAIS 168,504 144,590 23,914
101 124 H| 42,108 39,092 3,016
04 JI2ZtHIZ2 2 NEES 42,108 39,092 3,016
OYAASARUGUHEHESEE)
51,7603 x501 x200 L *80%< & 2+> 41,408
O3 a = (HHE24E) 700,000 700
201 et | 3,648 3,168 480
01 AP 2t 2] d| 2,688 2,592 96
O3 2,688
LS ]
7,000 #4001 x 120 #80%< & 2> 2,688
02 =224 4| 960 576 384
OA & &Hl XYl 960
— StA A H| S X HI 200,000 *6CH *80%< & 2> 960
206 M 2 Hl 42,924 33,893 9,031
01 M =4l 42,924 33,893 9,031
ogeEssMt 10,004
— 3 1,431 %650 70 x80%< & 2> 5,209
-3 1,00321%702 *702 +B0%<E 24> 4,795
OgeiorZ et 29,920
—goloETyY
35,000 x4 *130L x80%<& 2> 14,560
— S AR R Y 3,000 *804 *B0Y *80%<E 2> 15,360
OXUEXSERL 5,000 x600< 3,000
307 QI2t0| & 79,824 68,437 11,387
05 QIZtRES 79,824 68,437 11,387
OgtE AS Y| 93,910 *852 x 100 & X 79,824
TRUGHIT 2 2AIALY 5,330 4,130 1,200
= 2,665
Al 1,332
- 1,333
201 et 9| 1,250 1,250 0
= 625
Al 312
- 313
01 AFR 2t 2| H| 1,250 1,250 0
Ogbt4=2d| 1,250
— FRUIHI2LZANAIE2HH|
1,250,000 1,250
= 625
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A EAA
M X AED ALEX
SOl O - oo AR EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 312
T 313
301 et d = 4,080 2,880 1,200
= 2,040
Al 1,020
- 1,020
NJIEEd=s 4,080 2,880 1,200
OFzZggEsZAdzlla2g8 X
4,080,000& 4,080
= 2,040
Al 1,020
T 1,020
ZEHUE R AAAMR 9,220 8,640 580
201 ¢er24| 4,180 3,600 580
01 At 22l 4,180 3,600 580
Oget==EH| 2,220
—ZEEEE=MH
2,000& *1, 20000 x80%< & 2> 1,920
— OFQIBAIAE R R BOIO| AL AT
150, 000 *2JH 300
O= &l 1,960
— Yo% REA S Y|
7,000 +521 x70L «80%< & 2> 1,960
202 04l 5,040 5,040 0
01 = LH 4 Hi 5,040 5,040 0
O EEERE S II]
20,0003 5021 «63 2 +B0%<E 2> 5,040
0l Ol =& Xt & = I 32,660 18,204 14,456
J| 16,330
Al 16,330
307 21201 A 32,660 18,204 14,456
J| 16,330
Al 16,330
01 92724l 32,660 18,204 14,456
oolol =& Xt&l Z i 32,660,000 32,660
J| 16,330
Al 16,330
StAIQITIIGH AL Lo At MEXE=S X2 AHE 21,600 12,600 9,000
= 21,600
301 et d s 21,600 12,600 9,000
= 21,600
01 MI2EZE +06l= 21,600 12,600 9,000
Ostdl NI At A Tl At M & X & S X =
150,000& #1221 1200 & 21,600
= 21,600
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CEPS
NE==g A5
ol - 2fer Ared
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
ZEEM LS 3,437 3,492
| 3,437
201 L2 | 3,437 3,492
J| 3,437
01 At 22l 3,437 3,492
O/ n=H| 3,437
—LYYEHLSIN DR 3,437,0008 3,437
| 3,437
MEHAUHHIHS S 22 SHALY 5,520 2,520
J| 2,760
Al 2,760
201 LEr2 Y| 3,000 0
| 1,500
Al 1,500
01 At 22/l 3,000 0
Oget==EH| 3,000
— MEH AL ES B3I 3,000,000& 3,000
J| 1,500
Al 1,500
301 L2 AF 2,520 2,520
| 1,260
Al 1,260
MIIEE4d3 2,520 2,520
OSZAUSEZZAMA2GHI XA
2,520,000& 2,520
| 1,260
Al 1,260
2 T B AN 2,000 2,000
= 1,400
Al 600
201 2yt 2 Y| 2,000 2,000
= 1,400
Al 600
01 At 22l 2,000 2,000
OB+t 2,000
— Moz MdEEES Y 1,500, 000& 1,500
= 1,050
Al 450
— Mol W=l 500,000& 500
= 350
Al 150
LS ALY 498,382 481,648
J| 246,839
Al 123,419
- 128,124
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
K EAIE] SSAHUZSTAIG (BEX) 120,728 100,594 20,134
J| 60,364
Al 30,182
- 30,182
101 2124 d| 75,964 49,976 25,988
Dl 37,982
Al 18,991
- 18,991
04 JIZtHI2E2XNSE S 75,964 49,976 25,988
OJIZtMZ2Z A2 (58 =S EE)
75,964,000& 75,964
J| 37,982
Al 18,991
- 18,991
201 Bt 49 ]| 32,764 38,618 N5,854
J| 16,382
Al 8,191
- 8,191
01 At 22l ] 27,624 33,478 N5,854
Ogst=2H| 25,468
—EEAUSIANYURYEEE
25,468 ,000& 25,468
J| 12,734
Al 6,367
- 6,367
Oexs 456
—HASTHEHELIANEE
38,000 x 1204 & 456
J| 228
Al 114
- 114
osg9=+4Y 1,700
—SEANGEAN I
100, 000& 72l 700
J| 350
Al 175
- 175
— KNEASTHEEH I 2HEALE
100, 000& 501 %x23| 1,000
J| 500
Al 250
- 250
02 2324 5,140 5,140 0
OZ2Z22=22 Al 3,640
— SEAHLASTAL SR = 1,542 ,000& 1,542
J| 771
Al 386
- 385
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
—SESIPAIERE 63,000& x12& 756
J| 378
Al 189
- 189
—REHLSAIEZ 31,000& x12& 372
J| 186
Al 93
- 93
—gXSHAMASH 970,000& 970
J| 485
Al 242
- 243
OAl& ZHI KX Y| 1,500
— S EAHAIE AIE & HI S Xl 1,500, 000& 1,500
J| 750
Al 375
- 375
202 044l 12,000 12,000 0
J| 6,000
Al 3,000
- 3,000
01 2L Y| 12,000 12,000 0
OSEHHLSIAIL S 2= Y|
20,000 « 152 x403] 12,000
J| 6,000
Al 3,000
- 3,000
KNAAS SSHLSTAIE (2Y) 189,200 224,000 A 34,800
J| 94,600
Al 47,300
- 47,300
301 et A= 3,480 6,000 N 2,520
J| 1,740
Al 870
- 870
11 J|EtE A2 3,480 6,000 A2,520
OXNGAMISAMEAS 280
— T AAS 154,000 154
J| 77
Al 38
- 39
— N3 SAAAH 2 A 7,000& x901 23| 126
J| 63
Al 32
- 31
OXI Dol AFAI H| &2 &b 100,000& 191 %32 3,200
J| 1,600
Al 800
- 800
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SHa
Ao 225
AL STAE

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 185,720 218,000 A 32,280
| 92,860
Al 46,430
- 46,430
01 2=2L =4l 185,720 218,000 A 32,280
OSEUHLEIANLAESE 185,720
—S2ASINNTHELAZ 2L
5,600& *1,0003 x10& 56,000
| 28,000
Al 14,000
- 14,000
—&EIITN P 20,000& 2002 4,000
| 2,000
Al 1,000
T 1,000
— XOH=JIBEAS K& 20,000,000& 20,000
| 10,000
Al 5,000
- 5,000
— NSA S THE AL I I+
3,720,000& 3,720
| 1,860
Al 930
- 930
—Z=EL2LWESUH 12,000,000& 12,000
| 6,000
Al 3,000
T 3,000
— GAH L, E2MAA 15,000, 000& 15,000
| 7,500
Al 3,750
- 3,750
— B34 FH 75,000,000& 75,000
| 37,500
Al 18,750
T 18,750
HLASE A 4,704 5,184 A 480
201 €2l 1,344 1,344 0
01 At 22l 1,344 1,344 0
O= &l 1,344
—AYEAALEAS 2
7,000 *3021 x80 L *80%< & 2> 1,344
202 o4dl 3,360 3,840 A 480
01 = LH o4 1l 3,360 3,840 A 480
OHZSTAS O HI
20,0003 321 *70 L x80%<E &> 3,360
SIISHX A A A 183,750 145,700 38,050
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2N BAA
M (AT ALEX
Sel ALSANEY (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 91,875
Al 45,937
T 45,938
101 124 dl 44,790 24,754 20,036
| 22,395
Al 11,197
T 11,198
0412t Z2XREES 44,790 24,754 20,036
OS3dZeld g2 (bHEEESEE)
1,700,000 121 x12& 20,400
| 10,200
Al 5,100
T 5,100
O=d 3l a At 20,0003 11«55 1,100
J| 550
Al 275
- 275
Oz=dEclY 4 AEE=FIHl 800,000 x1H 800
| 400
Al 200
T 200
OzHEelC4EAHEEZII2RES
190,000& x1Q1x11& 2,090
| 1,045
Al 522
T 523
O3S F X HARABHEEZSEE)
1,700,000& 121 x10& 17,000
| 8,500
Al 4,250
T 4,250
OSSN A N
150,000& 121« 10& 1,500
| 750
Al 375
- 375
OS3HsFX Lo (5HEEEIIZ2RYEZ)
190,000& 121 x10& 1,900
| 950
Al 475
- 475
201 Yot 2 Y| 22,760 33,846 A 11,086
| 11,380
Al 5,690
T 5,690
01 At 22l I 22,410 30,096 AT,686
OZ3gesZFTds2sME 15,760, 000& 15,760
| 7,880
Al 3,940
- 3,940
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
O3ddEoHA2AY| 2,060,000 2,060
J| 1,030
Al 515
- 515
O2UBAXTHRUHYPEI| WA
4,590,000 4,590
J| 2,295
Al 1,148
- 1,147
02 32%H| 350 3,750 AN 3,400
O NN EE S 50,000& 721 350
J| 175
Al 87
- 88
202 04t 3,000 3,000 0
J| 1,500
Al 750
- 750
01 2L Y| 3,000 3,000 0
OS2HXNEEH AL L2=E 0 Y|
20,000& *3Q21 x50 3,000
J| 1,500
Al 750
- 750
301 et A= 60,400 51,100 9,300
J| 30,200
Al 15,100
- 15,100
11 JIEtE A= 60,400 51,100 9,300
O2II2H X &2 AH|
50,0003 x6YH x 14 «12& 50,400
J| 25,200
Al 12,600
- 12,600
O2HHdZI|IEQHMEE 50, 000& *2009! 10,000
J| 5,000
Al 2,500
- 2,500
307 212t0| & 52,800 33,000 19,800
J| 26,400
Al 13,200
- 13,200
01 =L F2=Hl 52,800 33,000 19,800
(OF=g iy el 60,000& *880¢2! 52,800
J| 26,400
Al 13,200
- 13,200
IFEEB2HAAY 3,507,728 3,097,545 410,183
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2N BAA
M (AT ALEX
&2 NHEE2AAY (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 63,956
Xl 204,148
| 1,497,584
Al 829,854
T 912,186
DAoLt AZ2e X2 291,640 210,429 81,211
Xl 204,148
Al 43,746
T 43,746
308 XXM SO0 A 291,640 210,429 81,211
Xl 204,148
Al 43,746
- 43,746
103/ 2SOHUHS A ALS I 291,640 210,429 81,211
OMZ A Mot 2 2t X & 291,640,000& 291,640
Xl 204,148
Al 43,746
- 43,746
L EE 2,430,820 2,240,262 190,558
| 1,215,410
Al 607,705
- 607,705
307 21201 A 2,430,820 2,240,262 190,558
| 1,215,410
Al 607,705
- 607,705
01 2L =4l 2,430,820 2,240,262 190,558
OBHAA%ZEH| 115,220
— A0t EHI 69,620,000& 69,620
| 34,810
Al 17,405
- 17,405
DA = 1,800,000 1,800
| 900
Al 450
T 450
= jull 15,600,000 15,600
| 7,800
Al 3,900
- 3,900
S 28,200,000& 28,200
| 14,100
Al 7,050
T 7,050
E 6,200,000& 6,200
| 3,100
Al 1,550
- 1,550
2 F 2,309,400
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A EAA
HE: NFY ALEA
&2 NHEE2AAY CHel & 2 )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— A0t &I 1,883,800, 000& 1,883,800
| 941,900
Al 470,950
T 470,950
— Lold & 425,600,000 425,600
| 212,800
Al 106,400
- 106,400
SHLHAIOI &AL & S0t 2] 29,720 29,720 0
| 14,860
Al 7,430
- 7,430
307 gl2tol & 29,720 29,720 0
| 14,860
Al 7,430
- 7,430
01 =LA =4l 29,720 29,720 0
O EHAIOI A Z ALK &0t 2] 29,720,000 29,720
| 14,860
Al 7,430
- 7,430
Ols0t & A3 H0l&0t 2=Hl XA 9,940 75,000 A 65,060
| 4,970
Al 2,485
T 2,485
307 glz2+ol & 9,940 75,000 A 65,060
| 4,970
Al 2,485
T 2,485
01 92724l 9,940 75,000 A 65,060
Oblsote L0l a0t 2HI XA
9,940,000 9,940
| 4,970
Al 2,485
- 2,485
HE IR 4,400 4,400 0
| 2,200
Al 1,100
T 1,100
307 21201 A 4,048 4,048 0
| 2,024
Al 1,012
T 1,012
01 22724l 4,048 4,048 0
O OLE 2t & E & At 4,048,000 4,048
| 2,024
Al 1,012
- 1,012
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A EAA
M X AED ALEX
e JIEEAHAY (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
308 XHXIEHSO|A 352 352 0
J| 176
Al 88
- 88
10 2| 2 SHCHSHE A X A H 352 352 0
OUE D& =EEH| 352,000 352
J| 176
Al 88
5 88
HAE2XRA 474 532 326,457 148,075
J| 237,266
Al 118,633
- 118,633
101 21 21d| 22,400 22,400 0
J| 11,200
Al 5,600
- 5,600
04 JIZtHIZ22XNSES 22,400 22,400 0
HAS BT A0 B (5(HEEH2SEE)
22,400,000 22,400
J| 11,200
Al 5,600
3 5,600
307 QI2t0| ™ 452 132 304,057 148,075
J| 226,066
Al 113,033
- 113,033
o1 szt 452 132 304,057 148,075
O A =X 24| 452,132,000& 452 132
J| 226,066
Al 113,033
- 113,033
E=R208244+F M 1,756 1,778 N22
D] 878
Al 439
- 439
308 XHXIEHMSOIA 1,756 1,778 N22
Dl 878
Al 439
- 439
10 2|2 SHCHSHE A X A I 1,756 1,778 N22
OE=2 A=A 1,756,000 1,756
J| 878
Al 439
- 439
HAEMD AASA o=l KNS 6,000 7,200 A 1,200
J| 3,000
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A EAA
M XAEQ AYEH
SRl FBAAY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,000
308 XXM SO A 6,000 6,000 0
J| 3,000
Al 3,000
10 B2 S0 B A HH A 6,000 6,000 0
OFAEAIUASLZHIXIA 6,000,000 6,000
J| 3,000
Al 3,000
SRAEAAS 6,848 6,624 224
201 et 2,368 2,144 224
01 At 22l 1,968 1,744 224
Oget=EH| 400
—2NBHDNENHS LU
500,000 *80%<& 2> 400
o=l 1,568
— SR AYLFAZ A
7,000 #4091 x70 L *80%<E 2> 1,568
02 2324l 400 400 0
OA&ZEHl s X bl 400
— 2B HA L EHH F XY
500,000 *80%<& 2> 400
202 04l 4,480 4,480 0
01 = LH 4 Hi 4,480 4,480 0
ORXEALREH 0]
20,0003 421 +70 L «B0%<E 2> 4,480
HEESAS 79,440 38,735 40,705
Al 3,838
- 75,602
101 @124l 40,000 0 40,000
04 JI12ZtHZ22HEE = 40,000 0 40,000
OUZEE SN/ LY (BHEEH=ZSELE)
40,000,000& 40,000
201 Let24d] 12,640 12,320 320
01 At 22l 5,640 5,320 320
Oger=EH| 5,240
—HEESAU2 M
300& *3,5000H *80%< & 2> 840
— S ESAE Ol & E QI
100& *30,0000H *80%< & 2> 2,400
—UYEEERUS S (LBEU4S)
2,500,000& »80%<& 2> 2,000
o=l 400
— Mg SO =4l 80,000& «5%t 400
02 =224l 7,000 7,000 0
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A EAA
M XAEQ AYEH
Selr HEEAHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIE ZHI S X 7,000
— Y E S AL EH =X
(RPEEMJAYXNENXNELE)
8,750,000& »80%<& &> 7,000
202 O4dl 1,152 1,152 0
01 = LH 4 Hi 1,162 1,152 0
OUERAXNHRFE N HI
20,0003 20! «36 2 «80%<E 2> 1,162
301 gt d= 1,000 11,527 A 10,527
1MIIEBESS 1,000 11,527 A 10,527
OUHETEEAZAAE & 200,000& 121 x5 1,000
305 et =S 3,000 3,000 0
01 HH&aZSE 3,000 3,000 0
OHgds2AEXZH 300,000& 102! 3,000
307 21201 A 21,648 10,736 10,912
Al 3,838
- 17,810
01 222l 21,648 10,736 10,912
OougEstEZ+Y 21,648
—BE 2t 3,500 *3,7000! x80%< & 2> 10,360
—AMEFTZEEE  8,500&*3500! x80%<E &> 2,380
— SEIFEA 4,400 #3501 x80%< & &> 1,232
—FHAHSAS AL 7,676,000 7,676
Al 3,838
- 3,838
DAE a2 oz H X & 38,000 38,000 0
J| 19,000
Al 9,500
- 9,500
307 21201 A 38,000 38,000 0
J| 19,000
Al 9,500
- 9,500
01 222l 38,000 38,000 0
On/EgLaRAZH XA 38,000, 000& 38,000
J| 19,000
Al 9,500
- 9,500
XA 2 ZMES N 127,912 118,940 8,972
= 63,956
Al 31,978
T 31,978
308 XXM SO0l A 127,912 118,940 8,972
= 63,956
Al 31,978
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A EAA
g Az 235
B2l I EAAY (&2l &)
d =
SA-EH A (SA) - MRAE - BES Off &k 24 %Ei HusSz
- 31,978
103J12S0UHe S H AL 127,912 118,940 8,972
ONASSINALEZMERNZA
127,912,000& 127,912
= 63,956
Al 31,978
- 31,978
2RaR0 d2U 6,720 0 6,720
201 €erE gl 6,720 0 6,720
03 &AHZ S H 6,720 0 6,720
ORR+=0td 202 AtEl  6,720,000& 13 6,720
AL XA AL 1,306,061 1,303,588 2,473
) 623,837
Al 386,072
- 296,152
gEAt olZHl & Woret2el X2 240,000 233,242 6,758
) 120,000
Al 60,000
- 60,000
307 2120l ™ 240,000 233,242 6,758
) 120,000
Al 60,000
- 60,000
12+ 240,000 233,242 6,758
OE ol 2 HIXI 2 A (401 - & 2185/405¢Q1)
240,000,000& 240,000
) 120,000
Al 60,000
- 60,000
=Jtg2el X 195,444 170,122 25,322
) 97,722
Al 48,861
- 48,861
101 el 4l 9,770 8,222 1,548
p) 4,885
Al 2,443
= 2,442
04 JIZtRIZ22 NS E =+ 9,770 8,222 1,548
LEUANLALL(CUHEESSEH)
9,770,000& 9,770
) 4,885
Al 2,443
- 2,442
202 04 bl 300 300 0
) 150
Al 75
- 75
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2N
X ZH -
L= B

el

ry
0y
0l
pal

Y X
oy Ie Y
=

o r2
=
1)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 2L I 300 300 0
OLdABEAIS =& 08| 20,000& x121x15& 300
J| 150
Al 75
- 75
308 MXISHHMSOIA 185,374 161,600 23,774
J| 92,687
Al 46,343
2 46,344
10 B 2SHUSAEAXNE AN Y| 185,374 161,600 23,774
OUAXH|(ZolAHAUESH 2 ) 185,374,000 185,374
J| 92,687
Al 46,343
=1 46,344
HNAHLSRHEEH K& 230,800 225,850 4,950
J| 115,400
Al 57,700
- 57,700
307 2Iz2t0| & 230,800 225,850 4,950
Jl 115,400
Al 57,700
- 57,700
05 QIZ2tRE 2 230,800 225,850 4,950
OFANAHLSAHEHEH 230,800,000 *1Jf A 230,800
J| 115,400
Al 57,700
- 57,700
HAALS T HEH XK (AlHl) 8,400 8,400 0
Al 4,200
- 4,200
307 QI2t0| & 8,400 8,400 0
Al 4,200
- 4,200
05 QIZtRES 8,400 8,400 0
OXBPMNHUZSRHEHSANEESY
100,000 721 x12& 8,400
Al 4,200
5 4,200
SIHAUXSEEEX 2=SHl NSAY 160,000 260,000 A 100,000
J| 80,000
Al 40,000
- 40,000
308 XNXIGHMSO0lI& 160,000 260,000 A 100,000
J| 80,000
Al 40,000
- 40,000
10 2| 2SHUSHE A X HE A ] 160,000 260,000 A 100,000
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Klo
n0 a1

A=
o) of
A K- =

™ 8 A0
HRA

2N
X XH
L= B
=

<

n0

Kio

Hl w

AB9

AB9

AB9

226

226

226

H3r
Wikd
RIS

5,652

1,250

1,250

4,402

4,402

369

369

369

9,000

4,880

Off &t 24

160,000
80,000
40,000
40,000

J|

Al

5,593
4,474

Il

560
559

Al

1,250
1,000

Il

125

Al

125
1,250
1,250
1,250
1,000

J|

125

Al

125
4,343
3,474

Il

435
434
4,343

Al

4,343
3,474

J|

435
434
595
476

Al

Jl

60

Al

59

595
476

Il

60

Al

59
595
595
476

Jl

60

Al

59

9,000
5,400
3,600
4,880
2,928

Al

Al

1,952

_O‘:J

160,000, 000

=

_?‘;J

i
o
<

Mo
It

ol

80
0K
J
oll

el

1
ok

01 At

00
<+

1l
oll

&

1,250,000

H
o
o
KJ
A0

US
80

ord

=
=)

308 A+XIEHH

.

0l
Ho
0
izt

)

ol

0

Kl

A0

US
B0

_O‘:J

4,343,000

307 21201 A

i

ak
n
of

el

595,000

30
O

| O & & dl

X

30
0
ol
all
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A EAA
HE: NFY ALEA
ol AKX R ALY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 4,880 4,880 0
Ogit>gH| 2,480
R EE-HEE Y=
2,480,000& 2,480
Al 1,488
- 992
o=zg=¢ 2,400
—XNHRSZA=E 80,000& x303| 2,400
Al 1,440
- 960
307 21201 A 4,120 4,120 0
Al 2,472
T 1,648
01 922724l 4,120 4,120 0
OXLoXdEZT L (IIMAS)
4,120,000& 4,120
Al 2,472
- 1,648
XXz 2eldl XI& 107,720 43,160 64,560
| 53,860
Al 26,930
T 26,930
308 XXIEHH SOl A 107,720 43,160 64,560
| 53,860
Al 26,930
T 26,930
10 B2 SUHUSBAHHH A 107,720 43,160 64,560
OXIOH Xl = 2eld| X & 107,720,000& 107,720
| 53,860
Al 26,930
- 26,930
HAMEAAS 7,300 7,300 0
201 Let24d] 7,300 7,300 0
01 At 22/l 7,300 7,300 0
ozg=4¢ 7,300
—JZEABH A HRARI E
(== s
100,000& 621 x123] 7,200
—IEHASANO A AL
(=228 100
100,000 * 121 % 13|
SEZNUHALSEAS 151,200 146,900 4,300
| 75,600
Al 75,600
307 glz2tol & 151,200 146,900 4,300
| 75,600
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2N
X ZH -
L= B

el

ry
0y
0l
pal

Y X
oy Ie Y
=

o r2
=
1)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 75,600
05 RIZt &= 151,200 146,900 4,300
Os=s2csSSEN3HH2HY|
151,200,000& * 100 & 151,200
J| 75,600
Al 75,600
SEZFUHL ST AL (AlH]) 3,600 3,600 0
Al 1,800
T 1,800
307 glz2tol & 3,600 3,600 0
Al 1,800
- 1,800
05 RIZHRI & 3 3,600 3,600 0
OS=2LSENIAUHSMASESH
100,000& »321x12& 3,600
Al 1,800
T 1,800
AZSH=Z A MOUHMSIIZEH K& 7,383 7,685 A 302
J| 5,907
Al 739
- 737
308 XX EHSOIA 7,383 7,330 53
J| 5,907
Al 739
- 737
10 SIS0t B & XA A 7,383 7,330 53
OFAAHSYNE &I AL & EHH 7,383
— OHOM L OteEMIQI 22 0 =2 2 XH(13921)
7,383,000& 7,383
J| 5,907
Al 739
- 737
OlsEAYE FA2AAY 50,000 50,000 0
J| 25,000
Al 25,000
307 21201 A 50,000 50,000 0
J| 25,000
Al 25,000
05 RIZt2IEt = 50,000 50,000 0
OOtsZAFHAMEHAY 50,000,000 «17H £ 50,000
J| 25,000
Al 25,000
NGAM AL A DA 9IS 29 45,584 47,164 A 1,580
J| 22,792
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